CrpyKTypa KJIaccoB

= 5 Kknacc

m lwacc |
gl 12 xnacc(0B3) |
- T
— IETTE

o 3a Kknacc (OB3)
ml  4rnacc |

= 6 Knacc

J— 7 Knacc

= 7a Knacc (OB3)

I

()
L =
O I
I @©
n o0
= O
o ™
J @©
T Q
I O
o

= 8 Knacc

()
=
2
©
2]
o
m
©
o
©
o
@
o
5[
©
o
@
o
I
2]
o
I
(8]
o

o
b
ac
©
[as]
o
m
@
o

©
o
()
(V)
=[

©
o
()
)
ac
g
)
o
(&)

- 9 Knacc

UncneHHOCTh 00YYaroIInXCst

1 xmacc 8
1 a xmace (OB3)
2 Kjacc 10
3 knacc 15
3 a xnacc (OB3)
4 xiacc 11
5 knacc 15
6 Kiacc 13
7 KJ1acc 7
7 a kimacc (OB3) 4
8 knacc 14
9 kiacc 10
10 kmacc 4




